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i = X4 | wEy | = % :
fREET 10,353] 10,662] 12,016 22678
=L} 1468 1698 18761 357411 smsx | 26392 | 28,127 | 30,872 | 58,999
& FeET 3,157 3,258 3,395 6,653
HA P BT 2162 2.179 2,362 4541
KEHT 3.387 3,871 4,184 8,055
Jt ¢ T 904 912 1,032 1,944
xﬁfj 00811 59891 60291 116181 | smx | 26512 | 28,169 | 30,894 | 59,063
S&t| 26512| 28,169] 30,894| 59,063
X F A # & & A 0O
KF K 5 £ 5 K=F T 5 = E KF Gkl 5 £ K
AN 1,269 1,349 1,507 2.856| | EH 21 20 25 45 XA 25 21 26 47
[ 1,353 1,251 1,457 2,708 | REH 31 25 37 62 3] 0 0 0 0
= H 1,475 1,500 1,758 3,258 = 16 15 14 29 1A 407 443 516 959
25 1,334 1,433 1,590 3,023 L 14 13 20 33 A 658 789 831 1,620
RES 1,163 1,198 1,334 2,532 BB 7 8 5 13 BB 247 274 305 579
INEE 909 894 1,005 1,899 K= 150 227 241 468 =t 86 77 100 177
I 277 273 307 580 E% B 111 136 123 259 ] 106 135 137 272
bk 461 488 532 1,020 KK 410 472 521 03| | £EBE 123 150 177 327
TR 406 445 482 927| | IHEIS 70 91 98 189| | HEE 178 191 202 393
fit] 5 244 242 294 536 | RiEF 747 819 913 1,732| | BEEE 40 47 A1 88
o= 1,462 1,589 1,750 3,339 &K 790 934 963 1,897| | AAEE 38 40 47 87
BE 1,233 1,431 1,586 3,017 xB 880 874 942 1,816 5 468 478 472 950
e 235 267 290 557 mE 203 267 315 582 FR 321 349 395 744
&R 722 660 759 1,419 &I 26 51 68 119 =53 124 122 133 255
=YH 580 604 620 1,224 AR 244 287 298 585 JI| U5 148 152 151 303
=25 1,855 1,994 2,016 4,010 EH 195 189 243 432 e $3 63 70 74 144
B 44 1,306 1,406 1518 2,924 KiH 75 69 81 150 IR 1,118 1,229 1,309 2,538
g} 492 442 489 931 | BEA 26 24 22 46 15 956 1,043 1,139 2,182
| i= 252 225 233 458 | B AL 17 11 19 30
NEH 23 25 21 46 ¥ 322 311 343 654




